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Halloween Addition

Solve the following word problems.

On halloween, a candy store sold 2,100 chocolate
bars, 1,635 lollipops, and 1,060 gummy bears. How
many candies did the store sell in total?

In a halloween fair, 2,530 people visited the
haunted house, 1,925 people visited the pumpkin
patch, and 1,120 people went on the hayride. How
many people attended the halloween events in
total?

A halloween parade had 1,755 people in the
morning, 3,145 people in the afternoon, and 1,167
people in the evening. How many participants
were there in total?

A child collected 2,710 candies trick-or-treating.
Their friend collected 1,610 pieces, and another
friend collected 1,070 pieces. How many candies
did they collect in total?

A halloween fair sold 2,130 candies, 1,425 cups of
punch, and 8,70 cookies. How many items were
sold in total?

A pumpkin farm sold 2,670 pumpkins, 1,925 gourds,
and 1,350 cornstalks for halloween. How many
items did the farm sell in total?

7 A halloween costume store sold 2,770 costumes,
1,530 masks, and 1,170 wigs. How many items did
4 ) the store sell in total?

| A% (ﬁ

" )

www.splashlearn.com




